CASBEELBIZH 15 ERIEHDRIFERERHBE

CASBEE-5& (2010%ver.1)

=1 | i QA= N
X TROZERCERBEERSTOMELZIASLTZELY,
B2 E B B EXEIEEEEN n 3
W1, THERRERIE XK | DHEHE
1.1 E¥nEE FHF
(AAvh) XEEFEZHRICRHEL TS 3.0 0.08
BT L R (> SR 4= 2 =0 043 Ql|ENEBE 2|;R BB 21| =B %110 3|5t Rt ae
50 049 [wr|THRLF— 1|2 E KA
INET| 4.8 0.36
1.2 BARIRILT—DFA
@Ak KEEFELBHRICEHL T2 3.0 050 |[wri|zHmnx— 2| BRI —FIE 21| BRI -DEEF A
3.0 050 |wi|zrix— 2| BTV -FIF 22| BRI -DEHFIF
i 30 | 009
13 BRI RTLOEIEE
(AAU) KEEFEZERICEHL TSN O 4.1 | 1.00 ||_R1 |I7~)l«=\5— 3 ggﬁ:/xj—_‘/_\g)%-ﬂl@{tl | | |
ARG HERDIERRA
Mt 41 | 018 |
14 BB ATLDNEMER
(TAUL) XEEFEZEEHRICRESHEL TSN Wi | TR L E— slmm=mEm R E=L DY)
LR1 | TR)LF— 4|hERER 42| ERE B IKH
INET
15 BR-ITIVTILFRE
(@EAVh) KEEFREHRICEHL TSN 0O 3.0 0.08 [w®|&R-wFU7L | 1[KERRE 1.1] 87K
EiKEBEDRA 3.0 012 |=|am-<7u7r | 1|k&EESE 12|FARIA-HHOKERA | 1|[FARALRTLEAOEE
LR2 | &iR-<TITIL 1| KERRE 1.2| MK FI A - KB R A 2| HHKBR AT LEADEE
20 006 |re|&E-<TUTIL | 2|kEisuEEoEREEIE [2.1|4kHEEE O8I
3.0 019 |[wre|&E-<FU7IL | 2|fkEisuaEOERESN |2.2|BERSEASOMREER
3.0 016 |re|&E-<TUTIL | 2|kBEREROERBEIE [2.3|Bamss0U9 2L HORER
1.0 016 |[Re|EE-<TUTIL | 2|kEsuESRoERBER [2.4]6mEms50509HLH0mR
20 004 |re|&E-<TFUTIL | 2|kEBAMEROERBEIR (2.5 saTenmmnsEtsnrH
3.0 019 |wre|EE-=FUTIL | 2|E4sHEEORRAELR |2.6|8HOBHNATELR EAOREH
INET[ 2.6 0.26
1.6 A7/ )LCO2HHF
(TAVP)  XEERBBEEERICEHL TS 33 | 1.00 |LR3|§Q¢@%;§r§ 1|11gfgz555§1t,\g)ggjg | | | |
FATHADILCO28EHEN, — NG EMERSE
INET| 3.3 0.11
1.1 ER R AR 1L X3 38 | D HE S D 5T 3.8 0.72
W2 [E—F7AZURARIDHE
21 BEREORE
@AVh) XEEFEEHRICEBLTEID, 1.0 0.49 |os|z=sEsEEm) | 1|EwBBEORS LA
3.0 0.24 |Q3|=4RE (BhN) | 3|l 7 AT~ DOEE 32| Bt R RIEE DR L
20 0.27 |-ro|BhithstIREE 2| i A~ DBEE 22| BRBREELORE
INET| 1.8 0.96
22 RBEAEEIH
(FAh) - KEEREEMRISRBL TS, 40 | 1.00 |w=|sesims o[pmmm~orE  |2slwm o os~oamm | o[xaammns
RAL—RIZHABETES LS. HADHER
INET| 4.0 0.04
2.TE=FP A0 X 3R | D HEHE D FFAih 1.9 0.15
W3 [REMIEXIRIDHE
31 MtAM®ME
(TAUF)  XEESEZEHRICEHEL TS, 30 047 |ez|o—ExMaE 2|t At - 1538 2.1| &8 & - Bh4F DO it FREE %% 1|WEH
3.0 0.12 |Q2|y—EXitkE 2|t A -E5E T 2.1| B8 & - ER A DT FREE 4K 2| G - AR 1 RE
3.0 009 |az2|r—Exttse 2|t - S5 2.2| 50 &% - R DT FAE 5 1| AR L Dt FE 3R
40 0.09 [Q2|r—ExttsE 2| At - S5 2.2| 3B & - BB DT FHEE 4 2| B EIF M O BIELERR
3.0 0.04 |Q2|—EXxitHEe 2|t A - S 58 2.2| & & - BB OD it FA 4 3% 3|EEREL LR OBEHLERR
3.0 0.03 |e2|y—EXxit8E 2|t M- S8 2.2|E8 &% - R D FAE 5 4| Z=RBES VO FEH L BRI
40 0.06 |Q2|—EXxitHEe 2|t A - S 58 2.2| &R &R - B M DT FAE S 5| %5 KR EOEH L EME
2.0 0.09 |Q2|y—ERitHE 2|t FtE - 15 8B 22|48 & - SR+ OO Tt FR4E 3% 6| EERBHBOTHLENR
INET| 3.1 0.47
32 FZEDOEHM
(AAVE) XEFOFEERRISERL-BREEBLTTEL. | 30 017 |oz|r—Extzee a|xticte EHe NEL T an 1| =REEOEHE
3.0 0.17 |e2|r—EXxitsE 3| RIS - EEFTE 33|EIBEDEHME 2[fEKEEDEHHE
3.0 0.11 Q2| Y —EXMEE 3| - E T 33| EEDEHIE | BERECIRDEHM
3.0 0.11 Q2| —E X HE 3| xRt - E T 3| IEDEH A BERBROEFHE
3.0 022 |Q2|r—EXxttsE 3|3 - EHTE 33| EIEDEHM 5| iEtESR O EHE
3.0 0.22 (Q2|9—ERMEE 3|3t - EHE 33RO EHM 6|/ s TYTRR—Z
INET] 3.0 0.53
SIRFMIER K IDHEDFH A (LEE2IER) | 3.0 0.13
BESEHDOHRFY(LFEEIIER) 3.4




